PERL EDUCATION

CYLINDER, CONE AND
DPP SPHERE MATHEMATICS

DAILY PRACTICE PAPER IC SE_X

. The area of the curved surface of a cylinder is 4,400 cm2 and the circumference of its base
is 110 cm. Find :
i.  The height of the cylinder,
ii.  The volume of the cylinder
50 identical circular plates are placed one above the other to form a solid cylinder. For
each plate, diameter=21 cm and thickness= 1.5 cm. Find:
i.  Curved surface area of the cylinder formed.
ii.  Volume of the cylinder formed.
. The volume of a solid cylinder is 96228 cm?3 and the ratio of its radius to its height is 9:14.
Find the total surface area of the cylinder
. Acylindrical tube, open at both ends is made of metal. The internal diameter of the tube is
11.2 cm and its length is 21cm. the metal everywhere is 0.4 cm in thickness. Calculate the
volume of the metal correct to one place of decimal.
Find the volume of the largest cylinder formed when a rectangular piece of paper 22cm by
15 cm is rolled along its longer side

. When a metal cube is completely submerged in water contained in a cylindrical vessel

with diameter 30 cm, the level of water rises by 1 % cm. Find:

i.  The length of edge of the cube
ii.  The total surface area of the cube
. The radius of the base and the height of a right circular cone are 7cm and 24cm
respectively. Find the volume and the total surface area of the cone.
. Aright circular cone is 3.6 cm high and radius of its base is 1.6 cm. It is melted and
recasted into a right circular cone with radius of its base as 1.2 cm. find its height.
. The ratio of the base area and the curved surface area of a conical tent is 40:41. If its
height is 18m, find the air capacity of the tent in terms of .
. Find what length of canvas, 2m in width, is required to make a conical tent 12m in
diameter and 63 m in slant height? Also, find the cost of the canvas at the rate of Rs.150

per meter.
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11. A vessel, in the form of an inverted cone, is filled with water to the brim. Its height is 20cm
and diameter is 16.8 cm. Two equal solid cones are dropped in it so that they are fully
submerged. As a result, one-third of the water in the original cone overflows. What is the
volume of each of the solid cones submerged?

12. Find the area of the canvas required to make a conical tent 14 m high and 96 m in
diameter. Given that:

i.  20% of the canvas is used in folds and stitching.
ii.  Canvas used in folds and stitching’s is 20% of the curved surface area of the tent

13. The capacity and the base area of a right circular conical vessel are 9856 cm3and 616 cm?
respectively. Find the curved surface area of the vessel.

14. If the surface area of a sphere is 616 cm?, find its volume.

15. The internal and external diameters of a hollow hemispherical vessel are 42 cm and 45.5
cm respectively. Find its capacity and also its outer curved surface area.

16. A solid spherical ball of iron with radius 6cm is melted and recast into three solid
spherical balls. The radii of the two of the balls are 3 cm and 4 cm respectively, determine
the diameter of the third ball.

17. The internal and external diameters of a hollow hemispherical vessel are 21 cm and 25.2
cm respectively. Find the cost of painting it, all over, all over at the rate of Rs.1.50 per cm?.

18. The radius of the base of a cone and the radius of a sphere are the same, each being 8 cm.
given that the volumes of these two solids are also the same, calculate the slant height of
the cone.

19. A metallic sphere of radius 10.5 cm is melted and then recast into small cones each of
radius 3.5 cm and height 3 cm. find the number of cones thus formed.

20. A hollow metal sphere of internal and external radii 2 cm and 4 cm respectively is melted
into a solid cone of base radius 4 cm. find the height and slant height of the cone.

21. Avessel is in the form of an inverted cone. Its height is 11 cm and the radius of its top,

which is open, is 2.5 cm. It is filled with water up to the rim. When lead shots, each of

which is a sphere of radius 0.25 cm, are dropped into the vessel, % of the water flows out.

Find the number of lead shots dropped into the vessel.
22. A toy is in the form of a cone mounted on a hemisphere with the same radius. The
diameter of the base of the conical portion is 12 cm and its height is 8 cm. Determine the

surface area and the volume of the toy (m =3.14)
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23.The given block is made of two solids: a cone and a hemisphere. If the height and the base-
radius of the cone are 24 cm and 10cm respectively and the diameter of the hemisphere is
10 cm; find the total surface area of the block. (Take = 3.14)

24.The height of a solid cone is 30cm. A small cone is cut off from the top of it such that the
base of the cone cut off and the base of the given cone are parallel to each other. If the
volume of the cone cut and the volume of the original cone are in the ratio 1:27; find the
height of the remaining part of the given cone.

25. The given figure shows the cross-section of an ice-cream cone consisting of a cone
surmounted by a hemisphere. The radius of the hemisphere is 3.5 cm and the height of the
cone is 10.5 cm The outer shell ABCDEF is shaded and is not filled with ice-cream.

AF =DC= 0.5 cm, AB//FE and BC//ED
Calculate:
i.  The volume of the ice-cream in the cone (the internal volume of the cone including
the hemisphere ) in cm3;
The volume of the outer shell (the shaded portion) in cm3.

In each case, give your answer correct to the nearest cm3.

26. From a solid cylinder of height 36 cm and radius 14 cm, a conical cavity of radius 7cm and
height 24 cm is drilled out. Find the volume and the total surface area of the remaining

solid.

27. A girl fills a cylindrical bucket 32 cm in height and 18cm in radius with sand. She empties

the bucket on the ground and makes a conical heap of the sand. If the height of the conical
heap is 24cm, find:

i.  The radius and
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ii.  The slant height of the heap. Give your answer correct to one place of decimal.

28. From a solid cylinder, whose height is 8 cm and radius is 6 cm, a conical cavity of height

8cm and of base radius 6 cm is hollowed out. Find the volume of the remaining solid. Also,
find the total surface area of the remaining solid.

29. A cylindrical beaker, whose base has a radius of 15 cm, is filled with water up to a height of
20cm. A heavy iron spherical ball of radius 10 cm is dropped to submerge completely in
water in the beaker. Find the increase in the level of water.

30. The cross-section of a railway tunnel is a square surmounted by a semi-circle as shown in
the figure.

The tunnel is 50 m long. Find the cost of plastering the internal surface of the tunnel
(excluding the floor) at the rate of RS.10 per m2.

31. Water flows through a cylindrical pipe of internal diameter 7 cm at 5 meter per second.

Calculate:
i.  The volume, in liters, of water discharged by the pipe in one minute,
ii.  The time, in minutes, the pipe would take to fill an empty rectangular tank

Imx3mx2.31m.
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